MyCalcWorld - Finding Intersection Points on a Calculator

Intersections on a TI-83 or TI-84 s

TI-84 Plus Silver Ediitic
# Texas In s

How To Start: 1. Graph the functions: T T

2iZero

Siminimum

42 mazlmumn
intersec

2. Change your viewing window if needed. o ey
H = s

3. Theintersection point(s) should be visible.

4. Pressthe 2™ TRACE (the CALC option).

5. Choose 5: intersect.

What to do once you have requested 5: intersect:

TI=ERE+LER+2T First Curve? —  The calculator is requesting that you make sure the blinking
crosshair is somewhere on one of the graphs. Use the

left/right arrow keys to verify, use the up/down arrow if you

T need to jump to another graph and then press enter.
4=-E.318143 [v=-1.010692

Yz=-zh-8
\\K / Right Bound? — Make sure the crosshair is on the other graph. Use the
*\_\/{\ left/right and up/down arrow keys. Press enter when it is.
Second curye
W=-EA0E%A: IV=z.z1zZ76A

Guess? - The calculator is asking you to place the blinking crosshair somewhere
close to where the actual intersection is located. This is especially
important if there happens to be more than one intersection point.

WARNING - Multiple Intersections: Many students forget to check for all intersection points. While
the graph above has only 2, many problems in Calculus have
intersection points that are outside the normal calculator viewing
window. Be sure to check for multiple intersection points and
that you know how to find them.

Time to practice...  Graph the following on your calculator, find a good viewing window, and then
find all x-intercepts for each graph.

1. y=—|2x—6|+5 2. y=—>+—-3 3. y=—49t*+ 40t + 180
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wyoaiooria | X-intercept on a TI-83 or TI-84
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—— ANSWER KEY —_—
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